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1HEHi5E 424
JIE {2 K4 FEHIFI—X ouT IN GROSS
1 MHE ELF Y= - H 836 40 36 76
2 Mg - =1 -BREEPG 38 41 79
3 KA WF Y= - H 0836 39 41 80
4T AH BAE MXS-2HEE 42 39 81
4T i B+ £HSYGWC 42 39 81
6 V=T ITI=EERE S £AIYGWC 44 38 82
7T ¥ 0AH Y= A —Fr—F 41 42 83
1T EH EF WEHEMH L EG 38 45 83
9T Eil_E==x L ZEEGC 44 40 84
9T AE_HBE=E HXS-KFII7 43 41 84
11 E2X & HXS-£HPH36 41 44 85
12T +H BF HXS-£HPH36 44 42 86
12T =i F A EEGC 43 43 86
12T Bix = - -ThIEGC 47 39 86
12T HE = 2o EBHGC 46 40 86
12T A&t #BF fif] LI ZZEGC 44 42 86
17 JEH #MEF MXS-BEHELE 43 44 87
18T Pl =F A EILEGC 45 43 88
18T A AEF E15-VENGC 45 43 88
20T X GITBEF WFEZHRM ARG 44 45 89
20T ANHE Ef A EILEGC 42 47 89
20T Xl EF Ao ELEGC 43 46 89
20T Mg BEF MXS-HREGC 48 41 89
20T bk EEF 4398 %=HPC 44 45 89
20T /AR HEY FELA#IYGC 44 45 89
26T RAR ZLEXE ZAEEPG 47 43 90
26T E BF £HIYGWC 45 45 90
28T RiE HEF HIEGCTHIR 46 45 91
28T Il BHEF 7YY CC 49 42 91
30T BH EEK £HSYGWC 44 48 92
30T Ml 2FE E1GC 49 43 92
30T BEH 5F ZAEPG 47 45 92
30T HIET EF 4398 4-HPC 45 47 92
34T =% HiF L£HOH36 46 47 93
34T o EX J\FHKGC 46 47 93
36 EAY A A=l 4—F+—FGC 50 45 95
37T HE BhF EHEG 49 47 96
37T T #F HEG 48 48 96
39T BH BF £ HOH36 49 48 97
39T =8 &F £ HOH36 46 51 97
41 REe BExXx £AOYGWC 52 47 99
42 INFR BAF KBIRPG 51 50 101
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